QUESTIONS & ANSWERS

IBM

000-454

IBM High-End Tape Technical Solutions V7

Download Full Version : https://killexams.com/pass4sure/exam-detail/000-454


http://killexams.com/pass4sure/exam-detail/000-454




Answer: C

QUESTION: 70
With TS1140 drives, if host software is used to compress the data before sending it to
the drive, then:

A. The drive will determine if the data should be compressed

B. The drive data compression must be disabled to avoid performance issues

C. The drive data compression must be disabled to avoid expansion of the data

D. The Data Class parameter COMPACTION=YES must be set to optimize
compression

Answer: A

QUESTION: 71
What is the minimum requirement for a TS7740-V06 to run release 2.0 microcode?

A. 16GB memory installed

B. at least 7 TB cache enabled

C. TS1140 drives installed at the backend

D. at least 200 MB/s processing increments enabled

Answer: A

QUESTION: 72

Which IBM Enterprise Tape function improves drive performance and reduces
start/stop operation of the tape drive especially when writing many small objects to
tape?

A. Capacity Scaling

B. Built-in Compression

C. FastSync / Virtual Backhitch

D. Media Re-Use for Multiple Generations

Answer: C

QUESTION: 73
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What drive type does the TS7700 present to the host?

A. 3480
B. 3592
C. 3490E D. 3590B

Answer: C

QUESTION: 74
To what value should the missing interrupt handler (MIH) be set for 3592 tape
drives?

A. 93 minutes

B. 39 minutes

C. Auto set by the system

D. set explicitly to “disabled”

Answer: C

QUESTION: 75
What is the best location for a customer to check for any maintenance required for
z/OS when installing a TS7700?

A. Fix Central

B. Bulk Volume Information Retrieval
C. System Storage Interoperation Center
D. Preventative Service Planning buckets

Answer: D

QUESTION: 76

A customer wants to move a set of LPAR workloads from a TS7740 four-way grid in
Location A to a new TS7740 three- way grid in Location B. The move must be staged
for operational reasons. The customer has successfully moved the first LPAP’s
workload and established the new grid in Location B. What mechanism would be
required to move the remaining workloads?

A. copy export
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B. grid replication
C. copy export merge
D. TDME to copy the tape volumes

Answer: C
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